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A. Circle the correct answer.

1. Select the word which has four vowels.
a) lion b) cupboard C) eagle d) question

2. Select the correct plural noun for the picture.
a) tree b) trees c) treyes d) tries

3. Read the sentence and select the proper noun from the underlined words.
My uncle lives in Australia.

a) my b) lives C) uncle d) Australia
4. Which of these is a sentence?
a) hole in my pocket b) I cannot find my book.
¢) On the shelf d) behind the clouds
5. Provide the correct article for the given picture.
omlette
a)a b) an c) the

6. Which of the given statement holds true in the given situation?

Meetu: oh! My eyes are itching. Wind has blown dirt into my eyes.

1) It would be difficult for her to open her eyes for few minutes.
2) She will find difficult in sensing hot and cold things.

3) She should move indoor.

4) She can feel air.

a) 3 and 4 only. b) 2 only
c) 1, 3 and 4 only d) 1, 2 and 4 only

7. Circle the numbers which are more than 400 but less than 500 from the
given numbers

300 475 550 600
445 680 453




8. All of the following clothes are needed in the same season except

n@k

d)

9. X is a clothing worn in summers, while Y is the clothing worn in winters.
Select the correct option regarding it.
a) X can be raincoat while Y can be a leather jacket.
b) X can be made of cotton while Y can be made of wool.
c) X is always made from natural fibres while Y is always made from man-made fibres.

d) Bothaandb

10. Find the values of A and O using the sum given below.

A+ A =8 A =
A+@=? O -

11. Which of the number name is there in the box?

a) Three hundred thirty-four 348 312 422
b) Four hundred forty-eight 449 534
¢) Five hundred twelve 609

d) Six hundred nine

12. Which of the following correctly shows increasing order of the numbers?

a) 508, 516, 531, 599 b) 508, 516, 599, 531
c) 531, 516, 599, 508 d) 508, 599, 516, 531

13. Which of the following statements is INCORRECT?
a) There are 3 ones in 423.
b) 900 ones are same as 90 tens.
c) The largest 3-digit number formed by using 5,6,9 each only once is 956.

d) The place value of 6 in 678 is 600.



